
1601 J. P. Hennessy Drive, LaVergne, TN  USA  37086-3565   615/641-7533   800/688-6359   www.ammcoats.com Manual Part No.: 8110825 01
HENNESSY INDUSTRIES INC.  Manufacturer of AMMCO®, COATS® and BADA® Automotive Service Equipment and Tools. Revision: 11/08

Parts Identification
READ these instructions before placing unit in
service KEEP these and other materials delivered
with the unit in a binder near the machine for
ease of reference by supervisors and operators.

®

40-40SA
Center Post
Tire Changer
For servicing single piece
automotive and most light truck
tire/wheel assemblies



2 • COATS Center Post Tire Changer



COATS Center Post Tire Changer • 3



4 • COATS Center Post Tire Changer



COATS Center Post Tire Changer • 5



6 • COATS Center Post Tire Changer

N
o

te
s



COATS Center Post Tire Changer • 7

N
o

te
s



8110825 01   11/08 © Copyright 1994 Hennessy Industries and COATS All Rights Reserved Printed in USA

Read and follow installation and maintenance instructions on this page and in the

unit’s Operators Manual to help insure proper, safe operation and to obtain the

best possible service life from the unit. Correct installation, regular inspections,

and proper maintenance are essential to help accidents and injuries.

Installation Instructions
1. The COATS 40-40SA should be  securely bolted to the floor using the slotted holes on each side of the frame. Use all

four anchor points. Use high strength, corrosion resistant fasteners.

2. The operating pressure range at the machine must be 100 to 175 PSI. DO NOT EXCEED 175 PSI at the machine.
Sufficient air pressure is required for good performance. The 40-40SA is supplied with a 1/4" male pipe thread for easy con-
nection. The connection is located at the lower left corner on the operators side. DO NOT HAVE AN UNATTACHED, UNRE-
STRICTED AIR LINE AVAILABLE AT OR NEAR THE MACHINE. ALL AIR SERVICE/LINES AVAILABLE TO OPERATORS
SHOULD BE THROUGH THE TIRE CHANGER.

3. Read and follow additional instructions in the unit’s Operators Manual.

General Maintenance
1. The moving parts of the COATS 40-40SA are self-lubricating through the use of powdered metal and nylon bearings

for extended trouble-free performance.

2. Lower bead loosener shoe adjustment:
A. Mount a 14" or 15" steel rim without a tire on the table of machine.
B. Cycle the machine and note the clearance between the flange of the steel rim and the small lower shoe (Ref. No.

25). The proper shoe clearance is from 1/16" to 1/8". If clearance is not within these limits, the shoe must be
adjusted.

C. To adjust the shoe, loosen 3/8" x 1-1/2" bolt (Ref. No. 32) and add or remove shims (Ref. No. 31) to bring shoe to
the correct adjustment.

D. Tighten the bolt (Ref. No. 32) and check adjustment again as described in “A” and “B”.

3. Air gauge calibration:
A. Mount a large 15" tire/wheel on the table top of the machine. Pressurize the tire to 32 PSI. Measure the pressure

with a high quality pencil extension-type tire gauge. Connect the tire changer’s air chuck to the tire valve.
B. If the gauge does not read 32 PSI, remove the screw-on gauge lens and loosen the two screws located at the

edge of the dial face. Do not loosen the screws more than three turns.
C. Rotate the dial face until the 32 PSI graduation is in alignment with the pointer.
D. Tighten the dial face screws and clean and replace the screw-on lens.
E. If the gauge is inoperative or defective, replace it immediately. Order part number 8107980 from the COATS

Company, phone (615) 641-7533. If your machine is equipped with the optional pressure limiter, the function of
the limiter should be checked weekly.

7" Diameter Cylinder Maintenance (Ref. No. 45)
Proper cylinder maintenance is necessary for safety and performance. The design of the hydraulically dampened air cylin-

der (Ref. No. 45) facilitates smooth, controlled bead loosening, mounting, demounting. Internal sealing surfaces are chrome
plated to provide long seal life. A small amount of oil is usually lost after a period of time in lubricating the seals. It is impor-
tant that the cylinder be filled to the proper level at all times. If the oil becomes low, the machine will surge at the begin-
ning of the stroke. Cylinder oil level should be checked before initial operation and semi-annually thereafter. If fast or jerky
motion is noted, cease operation and check oil level immediately. A high quality hydraulic oil must be used. This can be
ordered from The COATS Company (Ref. No. 41), phone (615) 641-7533.

1. To add oil: Remove the front panel by removing four 3/8" bolts (Ref. No. 100) and three 1/4" bolts (Ref. No. 104).

2. Depress and hold foot pedal to extend the cylinder to the top of its stoke.

3. Carefully clean around the plastic breather plug (Ref. No. 42), remove it, and place it where it will not pick up any dirt or
debris. Fill the cylinder to within 1" to 1-3/16" from access hole in the top. Be careful that no dirt falls in through the access hole.

4. Replace the plastic breather plug and replace the front panel.

5" Diameter Cylinder Maintenance (Ref. No. 167)
The cylinder requires periodic lubrication. This is performed without removing the cylinder from the machine.

1. Remove the front panel by removing four 3/8" bolts (Ref. No. 100) and three 1/4" bolts (Ref. No. 104).

2. Remove the plastic breather plug (Ref. No. 42) on the cylinder. Add 1/2 ounce of 10W-30 motor oil with a spout-type
oil can. DO NOT FILL THE 5" CYLINDER WITH OIL.

3. Check by actuating the machine several times to insure proper function. Add more oil if necessary.

4. Replace breather plug and front panel.

Read and follow all safety information on the machine. Always work carefully and

safely.CAUTION

CAUTION


